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5348 X4 &= PIZ H29 PE | H30 PUE | Rit PUE B st
EBEEE | mREE | A203 EUNDAEREEE 0.0 0.0 0.0 (%) (SEMICERUZEACNEDEE / B AHENERE) x 100
FE LT=/KDEEA

548 X4 E) PI% H29 PME | H30PUE | Rit PUE B st
B101 BCHEAKEER 0.0 0.0 0.0 (%) (B RBKRKE/2/KEKE)x 100
B102 HUKE1m i DR IZ &M LU BRNUABL | MU (F/m? ABMRA (IR U T B P/ AR EUk
B103 HhF/kE 0.0 0.0 0.0 (%) (T 7kig7keE / £ERIEUKE)x 100
B104 HE&FIA® 35.9 37.2 36.2 (%) (— B IRk R/ HEEEEE 1) x 100
B105 BAMEE 43.3 47.3 42.9 (%) (— B ARKE/HEREE)x 100

gz | BL06 SEE 82.8 78.7 84.2 (%) (—BFhKE/— BB ARKE)x 100
B108 EHAURE 100.0 100.0 100.0 (%) (SRUEEBIES / BEE) x 100
B109 /ULT ik 0.0 0.0 0.0 (%) (=8 LTz ULTE / J UL T SER) x 100
Bl11l AME 99.2 99.8 99.5 (%) (FERERIKE | FERIEKE) x 100
B112 AUE 99.2 99.8 99.5 (%) (ERIEIUK R/ 4ERIB/KER) x 100
B113 BUkthETERAE 0.29 0.28 0.29 G)) EACHESR/— B F9EKE
B117 RESREMER 43.2 43.2 45.8 (%) (SRR M B SHEMEE DA x 100
E=EE B201 (R KBBHES 2.00 3.00 3.50 (/10 B | L0FRIDE KSR BIMITER / FR5
B204 BROBHIIE 8.1 1.2 0.0 (/100 km) | EBOBHIFL /( ESEES/100)
BHECENR | B205 EREROSEHRES 8.1 1.2 0.0 (/100 km)  ESREROSHEE/(ERERILER/100)
B206 SXBEEDBWEIS 8.3 1.2 0.0 (/100 km) | SXREBIEOBEMHY / (SRSHES/100)
B210 KEMHIIEEIBEER 1 1 1 (@) ERIDKE BT
B301 EUKE1m3 HlzhEBHHEES 0.25 0.25 0.25 (kWh/m?) BHERBOEET / ERIEKE
B302 BUKE1Im3 Mf0EETRILE— 2.54 2.51 2.52 (MI/m?) TrILE—HEE / ke
BKE1m3 %= 0 —E(tkE (CO,) N _ _ ;
— B303 . 122 114 112 (g« COy/m?) [_Eﬂblj—:;:r'i (CO%) HEHE / EBIEKE] x 10

B304 BLAEIFILF—FIAE 0.000 0.000 0.000 (%) ffﬁjﬁbl*}w_mﬁ@%bﬁﬁﬁi/ FIROBEDERE) X
B305 kT T EMFIER 35.1 100.0 100.0 (%) (BWRFELE / FkRETE) x 100
B306 EEEIEMDUDA LK 100.0 100.0 100.0 (%) (UBA 2L SNRERENSE / BREENRER) x 100
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e | B0 D5 ILHHE - BIEE 978 97.8 978 (%) (505 VEHEILE + BELE), BIIEE] x 100

A=)
BA02 EHOHEE 0.00 0.00 0.00 (%) (SIS BISEE) x 100
B501 AT BB RN EEE 0.0 0.0 0.0 (%) (EETREREBR C 5B KRR/ 25 KhEaE ) 100

;Hﬂ‘ H 1= LY ‘_-aa/:_g:u:gn. e AE*
B502 EEMAESBEREE 28.6 32.2 52.0 (%) CREMRIFRERA TSR, - B - SRS COREEY
- R, - B - PSSR CDAEER) x 100

= B503 AT AEHRBBEREE 53.9 53.6 52.8 (%) (EEMRER AR T\ 5 BISIEE/SIEIEE)x 100
B504 EBOEHE 0.81 0.35 0.35 (%) (BT 1/ BISIEE/BISIEE) x 100
B505 EBOELR 0.000 0.000 0.000 (%) (B4 =N ERIEE /ST E)x 100

- B602 B KIEROME(LE 0.0 0.0 0.0 (%) (T RO = 11 3 K hEaRE o) 25 K HEaRBET) ) x 100
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B604 B/ACHOTHELE 100.0 100.0 100.0 (%) (RO N B S B/ A S ENER)x 100
s | 5005 EHOBREE 62.5 63.0 64.4 (%) (R EILE/EHIEE) x 100

KEL
B606 EBEROMEESR 62.5 63.0 64.4 (%) (EBERD S SHREIEE/ EHEEEE)x 100
B606-2 EREHEOTMEEAE 62.5 63.0 64.4 (%) (BREEDS SHEBEA DD 3 EIEILE/ ERERIEE)x 100

o (TSR R R — O AR ) (T RaEae/
B609 ERMFEON 74.1 63.4 78.8 =
i & teEA— A TERE)DS 5. IENHDME

B610 MIMAZEH 0.0 0.0 0.0 G) TR/ — B SRR
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DEE X5 B5S PI& H29 PIfE H30 PIf& Rt PI{E ==tiv] tER
C101 EFFINZtEE= 112.9 107.1 106.9 (%) [(BEINE- ZEHIBNR) /(BXER- ZEIEE) 1x 100
C102 U= 123.7 116.9 116.0 (%) [(EEZUNZS + BRI/ (B2 R + B2 8/)]x 100
C103 #uUNzhbs 138.3 126.1 124.9 (%) (HAUNZS/ 2B F)x 100
Cl04 REXIBEHEZE 0.0 0.0 0.0 (%) [RIERIBEE/ (BN - ZFETHINE)]x 100
C105 |#RAFELEER (UNZRAIURASD) 0.1 0.1 0.1 (%) (IERENTERRAE/UNZESHIUNA )% 100
C106 |#EABLLE (BAMIUNAST) 0.0 0.0 0.0 (%) (BABNERAER/EARNINAET) X100
C107 |HEE— AZ7zDHaKIRZE 45,054 42,740 41,169 (FFH/AN) #a7KURZS /1B ES B E PR IE I S 21
C108 #A/KIRZER(CX 9 DEERSEDIIE 19.7 20.2 19.3 (%) (BEHRE5E/HEKINE)*x100
C109 #a/KURZER(CXI 9 DIEEEFSDEIES 0.0 0.0 0.0 (%) (EZEFZ/#a7KURZE) x 100
C110 #A/KUNZS(C3x T DiRMiHEEDEIS 36.0 38.0 37.5 (%) CRATEANES /487KIRZE ) x 100
. poge | Cl11 ,{;géi;i;z%xam@nm@m% 0.4 0.0 0.0 (%) (RIBUBR DD EEEETE/HE7KINZ) x 100
C112 #a/KIRER(CX 9 DIEEEZREDEIES 0.0 0.0 0.0 (%) (TEEEKS/fEKINE)x 100
C113 Hl&muR= 125.6 118.1 117.2 (%) (L& B/ 487K ET) x 100
C114 |{HHaEH(d 55.1 48.2 49.7 (A/m?) FaKINGS /R UIUKE
N 3 [(REEA- (TR ILBE+ MRRUTERFGHREM+ HESEE+
C115 #a/KERfH 43.9 40.8 42.4 (F/m3) EHNEAEA)] / EREIKE
C118 ¥REhtb= 3451.9 2193.3 3299.2 (%) (RBNEE/FBIE1E) % 100
Cl119 BCoE&AERKILE=R 88.2 88.7 90.3 (%) [(BAE+EIRE +5HMIEZEEE HRIEUNE)/ B8 - EA&ET 1x 100
C120 EFEte= 64.4 61.1 57.5 (%) [BEEE/(BAR+RIRE+IHMELEHRIENZE)]x 100
C121 |EEEEERTEMMENELLE 1.0 0.0 0.0 (%) (BB D= DIPEEER TR/ HFERMELIE)x 100
Cl22 BEE&EOEEE 0.13 0.13 0.13 (@) (B ZEUNZS — FEET BN/ [(PEBEEEE + BRETEEE)/2]
C123 EE&EERMHE 24.3 25.7 25.8 (m*/FH) ERIRUKE/ AR EEEE
C201 |/KEFAMICRET DEBEUSE 1.37 1.26 1.32 (/N B ENEUS U CTWLBKERMICEE T 2 ERE / 2R E2K
C202 H\ERAHERFR 12.7 7.6 7.1 (BFRE/N) (BEENINEPIHMEE Z (TR X ZBALY) / £2HEEK
C203 | IBBHHMERFR 8.9 5.6 1.9 (B5RE/N) (BENNZPIHMEZ Z (TR X ZBAL) / S
- it ABERK C204 #fiiikE R 85.2 85.2 78.6 (%) (B E L / 282 x 100
C205 |/KEEEFETITREREE 10.4 10.8 11.0 (F/N) BB DOKERISREREL /| DB
C206 EHFFtHIIREELL 0 0 0 (UNEN=)) 3 (EBAOREEE x HIEEE)
C207 EFFHBHIZAER 0 0 0 [(UNEN=)) S (BB HZAER x HEEH)
E C302 HKIZGE=BRFIX 0.0 0.0 0.0 (%) (B=BEZFEUIRKISORKIEREE N /| £IFKhMEREES) x 100
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